
SECTION AT CENTERLINE
VIEW FROM 3 PORT SIDE

ALIGN PILOT HOLE AND GASKET CUT OUT
ON SIDE 'B' AS SHOWN

POSITION GASKET TO SEAL PILOT HOLE
ON SIDE 'A' AS SHOWN

1

1

2

2

3

3

4

4

A A

B B

LIMITS ON DIMENSIONS
UNLESS

OTHERWISE SPECIFIED

2-PL DECIMAL .01
3-PL DECIMAL .005
FRACTIONAL 1/64
ANGULAR 1/2

DRAWN:

SCALE:

DATE:

SHEET:

CHECKED: DATE:

DATE:RELEASED:

TITLE: PART NO.: REV.:

AAA PRODUCTS
INTERNATIONAL

7114 Harry Hines Blvd
Dallas, TX 75235

RMcKenna 5/23/2016

1  OF 1 

KWaite 5/23/2016

5/23/2016HWomack1 : 1

D
:\

En
gi

ne
er

in
g\

In
ve

nt
or

 F
ile

s\
In

te
rn

al
 D

ra
w

in
gs

\V
al

ve
s\

As
se

m
bl

y\
Cl

as
si

c\
Sp

ec
ia

l\7
90

V.
id

w

 
1/2" SIDE PORT, SNGL SOL, 2 POS,

SPR RTRN, SOL SHFT, PALM ASSIST,
ISO 4400 DIN, 12VDC

790V

THE INFORMATION CONTAINED WITHIN THIS DOCUMENT IS PROPRIETARY TO AAA PRODUCTS AND MAY NOT BE DISCLOSED
WITHOUT PRIOR WRITTEN CONSENT

A A

SCREW, #2 X 3/16 DRIVE, TYPE U, OVAL HEAD, 316 STAINLESS STEELV-212212
NAME PLATE, BLANK, FOR VALVES WITH SPRINGS OR DETENTS.AN-114111
SCREW, 1/4-20 X 3/4 SHCS, HOLDS E.C TO 1/2-1" VALVESV-46410
KNOB, BLACK, PALM, (BRASS 5/16-18 INSERT), 1-13/16 DIA X 1-3/8 HEIGHTV-7119
END CAP, PALM STUD, 380 AL, 1/2" VALVEPEC4-790V18
PLUG, SOCKET PIPE 1/8" NPT (#601-3 PITTSBURG PLUG PART #.)V-1917
ASSY - NO DETENT, RTRN TO POS A, CLASSIC SOL W/PALM OVRD, 1/2" VALVESAY-SAK416
CLASSIC SOLENOID - ISO 4400 DIN, 12VDCAY-38ED-515
SCREW, 1/4-20 X 1 SOCKET HEAD CAP HOLDS SOL.ADAPT.TO 1/2&1"VV-4744
GASKET - END CAP, 1/2", 3/4" & 1" VALVEECG4823
O-RING, 1 1/8 X 1 3/8 X 1/8 CS 70 D.FOR 1/2 VALVE & 1"SP(V-90) BUNA-NV-662
BODY, 1/2" SIDE PORT, UPPER PILOTS, ANODIZEDB4-111
DESCRIPTIONPART NOQTYFLG

SIDE 'A'

SIDE 'B'

NOTES:
1) ALWAYS GIVE VALVE MODEL AND PART NUMBER WHEN ORDERING PARTS.

PILOT
PORTCUT

OUT

PILOT
PORT

1
2

3

5

6

9

3
10

7

12

11

4

8

(B)
4

(A)
2

5
(EB)

1
(P)

3
(EA)


